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Vehicle 
ty
pe: 
     
     Two-wheel 
scooter
:
  
 
 T
) (
As
sembly plant
 code
：
         
      
As
sembly plants
 1:
 
 
6
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Production year
:
20
20
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      20
21
：
M
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22
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N
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3
：
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Check Number calculated automatically. Possible character including:
0, 1, 2, 3, 4, 5, 6, 7, 8, 9, X
) (
Running number
：
000001-999999
) (
Engine type: 
   
4 stroke 
,water 
cooling 
:   
N
) (
Transmission
 type
：
Belt 
drire
:
  P
) (
Engine
 
displacement
:
 
300
C
C
:
  
P
) (
Design NO.:
             
 
 
A
) (
WMI
：
                 L4H
)`



